E(JZIMQV\\S OX CU(CV(VS
—‘P‘m&‘ Soven ?&\w\r | Com\\-w.\w Uu'\vux\\\(

[ec\-\»&. V\Q\QQ %\—ow\ S\ov\wa 2025

Eme‘)lL SesSiom We.v.\A 5

EXU\W\\Q\L S‘L&S‘\ov\ S\m '

WQ_Q_\,( S A: _‘\I\&O\QMAS os\ 3'\\3@&«\'\& \ON

WQQ\/\ 5 __%: C\é\x\\QQL —?o‘M\'s . \‘&x(&.‘-\iN(PQ.\V\\'S‘ w\& K)‘ﬂ‘?\\ S\kt\(\i\wQ

a4 -
LHSE.M
X Ax U Nx
e N oA e
Tor X?O,ue//(/-. (Ava ’;: = lw Ti‘—" = ... = b T =
X—200 X200 ><->%0 )
1
. x . X 4 -~
- Tor o020 - hwx ’x;:buw\ 0<X°"4—;<_LM x =0
K =0 P ) * %
A
. Y , * by , bux . I
c b ) =l @ el bl xbx=lin = =l 5 =0.
>0 K0 K0 X0 Pl x=0 x>
=e =1
L 1 nx
. X 0
e X = lw e =e =1
K=

X0



(Jm?\/\ S\&Xg\xm?(

EXM(\Q. A R)=x"- bx
1. Downw s b(f() =R

. °\(~‘\m\wm€\: S‘lo\=0 => X=\('—‘0 s X owd Y—\M\WQY\
- x~\w\u“\*\s.~ L= %" (x-6)=0 Sox %=0 os above) ovel x= 6

5. . Si(x) ——=99 o wo \Lo‘;\"kﬁ\«\'(k as\(m?\a\v.s.

X—=1Q

* /Vo \Im\'\m\ u&(v««\?\o\zs Swee b\f\) =W.

G L= bk - 48x°= 2 (x-9)
=3 obieel ks e =0 od = .
o At im0 8 ds i e s D b
SN S PU R domesin)
Tor x> 50 Y0>0 ({ ivevening)

=> M\u\ww« 0‘3( %, = % .

5 V= A= 36 = 4% (% -3)
=> 1?035‘\&;\& \v&lxt\\w Yd\“\s" x=0,%x=3
G T x20: {'[x)>0  (§ coman \f)
[ Tor 0exe: V') €0 (§ contan down) | %20 cud x=2 e swdhsd 1llasion
(For %53 050 (£ concen ) o

N

NS,




Example 2 K= 3\‘ (;f@]" - K\:ef )E
1. Dowsin D(§)= TR\ b}

1 R(O): O =S (O\U\ \< ¥ Q\AA K-‘\\A\QKCO.V\'.
S\(X): O OV\lA( u\ xX= D\ So \\w& QR WY Y(\M'\\w\- X-;\\A\QK\QV\'S )

3. ° k}(\l’\ g\(x) = =) \( =41 % \on'\%w\q\ m\(w‘\-o\( Rw X—=t®

X=2

. (AW\ SQ(X):VQ =D X:(—, \S \h;{\\t&\ Q,S\(V\((\-Q\Q

-6

|
k. = Kx% &x-e\’%)

=5 S\! Was wo 2oms . Al Dowsn D(E')=TRN\ 20\5}
CForxe0: 109 €0 (§ droming)
( Toe 0exeb: Yix)>0 (& m\mﬁ) K
L Tor X0 g\l (x) <0 \g &g“m-\“@ j No waxe 2} wb ince Mo is o Vel asymplole Yanve

g s (quL WAL er x=0.

5 V= -4 (B eer)

=-k k_%x—‘—{ (x-€)

win

8
« % 3 (-5) (x-6) 3)

ANSINIRE SO
- i o)t b

20 30



= XK= A ¢ oo ‘?OSS‘\\Okl '\\/&(9.(\'\0\1\ VQ.\\A\'
b Toe xe ') €0 5o § s Counane doun

Sﬂ \AQS 0\\A\~ QX W \lt\\w\ QX‘ X=
L Tox X>1: S\“\X\ 20 50 S\‘\s Coutavt v \§ \ X )\

N
RN R /- SN <=0
=t) X
J
\WQ\&C\;\Q\A‘G‘,S(
B —

Covcar. \OWM Cowcave U?



